


Sabarmati express departs from
Ahmadabad to Mumbai. Train has stop
on red signal after travelling 300 km
which is 66.66% of total distance, on
receiving signal after half an hour, train
driver increase its speed by 15 km/hr
and train reach Mumbai on time. What
is original speed of train.
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-I-H( +20 B‘ Train A takes 45 minutes more than

E train B to travel a distance of 450 ka
l( ~in IS™uiiue to engine trouble speed of train B
LS 2 0""'",-"(-’5‘\ falls by a quarter, so it take 30 minutes

#

&__ S \l 3 more than train A to complete the same
= Journey. What is the speed of train A (in

T 3. Y km /hr)
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A train meets with two accident in its
journey Ist accident happens at 150 km
from starting place which makes its

t place which makes its speed
ird of original speed and train
rives 9 his late. Had both accident
appened 50 km further along the line.
~Cp Jt Would have arrived 2 hr from last

X t}?ival. Find original speed of train.
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(a) 45 km/hr V(h‘lgkm/hr

(c) 50.5 km/h (d) 87.6111/ hr



ngkm Distance between two stations is 650

}——-——f km. Two trains start moving toward

. T each other. If they starts moving at

g,
G same time meet in 10 bhr. But A train
Mm'ﬂ start moving 4 hr and 20 min late than

w another train, then they meet after, 8 hr.

Z (')H"a'): B.Q‘l) Find the speed of train. —
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18 hr 7;km/hr
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(b) 16 hr,8 — km/hr
(c) 9hr, 79km/hr

(d) Bhr,ngm/ hr

A car covers some part of 140 km of
distance with speed of 6 km/hr and
remaining at | Dkm/hr. If he reverse its
speed it cover 8 km more in same time
find time taken by car to cover 140 km
and average speed of car.

Ud &R 140 fodl A &1 € AT 6

foff /ger @& <@ |4 aar 99 A |0
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A train can travel 25% faster than a car.

T- C Both start from point A at the same

5 S (1 time and reach point B 165 km away at
(1 the same time. On the way the train

takes 40 minutes for stopping at the
\“Kw: stations. What is the difference in the

A speed of train and car.
8 & W) @ eR @ 25% a9 g@d 2

[— Yo gl fag A U9 8 99T W) YRS $Xd @
3 . qu1 165 fofl g Reg g B ™ & &
6OR) 69 [ — | W Ugdd ©| WM H AW WRIE W
%T‘;‘i_& wedd @ foau 40 fime ddt @ JamEY aen
3 GEYST qq R @ Ry ¥ g 7 2Kl
g (a) 6.375 (b) 7.635

9% 0Q (c) 9.75 1 12.375




Three cars A, B, C started from a point
at S pm, 6 pm anc( 7 pm)respectively
and travelled at uniform speeds of 60
km/hr, 80 km/hr and x km/hr in the
same direction. If all the three met at

another point at same instant during
their journey, then what is the value of
x?

= Tfsar A, B3R C Udh 9 4 a3 5
pm,ﬁpmﬁ?pmwmwfﬁ?ﬁ%
I a3 60 fHHl /"ver, 80 fao+l /"ver
3R x fHdl /gver & v gu= wfa | v @)
feom 7 arar &l 2 afe ar=r @ ik g
dIFl U 91T 3 TIM UR Ud A1 fHad! 8

a9 x &1 |19 &7 B
LJK(TZO (b) 110

(c) 105 (d) 100
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(a) 20 feet/min

T

N

feet/min

Two ducks are moving in same direction
on a circular track’s circumference and
they meet after 54 min. If they move
with their uniform speed in opposite
direction they meet after every 9 min.
When they both move in qppasite
direction their distance becomes 14 feet
from 54 feet after every 48 sec. find
speed of dock moving at slower speed?

Uh qddR didd d 9Rf @ fear <l
999 UP feom # dadx 7Tl & a1 AP

L 54 fc 9 <91 e qw 9 fadt w1 afs

q, g SS9l fAf¥aa g fauda feem #

%m%mammgwﬁf
SOl |micht 21 o @ @ W RRr B R

fagdig feom & aaar € o 9 48 Adhs A
I9e € @1 gl 54 Hie 9 14 fise @
ot 8 at &l ara arell s9w @ ara 9

(c) 30 feet/min J# 20.83 feet/min -



X, Y, Z start at same point and same
time in the same direction to run
around a circular stadium. X completes

J\Cm"’ QSQ,%P{)!‘IS Owround in 252 second Y in 308 seconds

23 and Z in 198 seconds. After what time
X they will meet again at the starting
point?

X,Y,ZUs B faom § U B wMH 4 s
52Lx e N QU N i
Q-_-HQ ke X, 252 d®vs H Y, 308 Adhvs H Z 198
s dbvs d AQH &1 (P ddd) QX1 &Yd o, dl
60 foad wwg 1€ 4 97 IRYS w@&m= w g
e ?
(a) 26 min 18 sec (b) 42 min 36 sec
(c) 45 min (#8146 min 12 sec



mqg Gaurav and Azad start travelling from
t Delhi to Goa at speed of 15 km/hr and

12 km/hr respectively. After half an
Mhour Meera also leaves from Delhi to
Mna. After some time Meera crosses
W Azad and 90 minutes further on Meera

crosses Gaurav find the speed of Meera.

MRG IR 3more feeell A Mar HHI: 15
fHfl / gver IR 12 T+l /gver ara | amE=n
&HYd © 3me "e 9rg HRT fY feeelt | it
Fadl 2| B G 916 HRT IToIE & IR
Y odl 8 3R sUd 90 fse € Ma i

Hl TR & <dl @ dl HRT B ATA FATT BN |
(a) 48 km/hr (b) 36 km/hr
AE+% = IS"I:-\-H?E _-_-_5{(.,‘,“)(2.1(%'15{1/1“ (d) 39 km/hr
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If time taken to cover (D-11) km
Y n4g niy . . g

upstream is four times the time taken

+ 2 (6 to cover D km down stream} If ratio of

speed of boat in still water to the speed

D"'\l o )1 D of water is 9:7. The time taken to cover

S
K D-2 km in upstream is 2 hr. what will be
,J-r' the speed of boat in still water?

2 afe gx1 @ gfasa (D-11) feft &7 <& &t

ag &1 H o gHa D el & 8 au
A H AT 9 Mg ¥ 9R AT © AfQ

KT~ | okw|h oiid ofel § g @) Ay @) g @ @

o SN IUd 9:7 © IR arT & ufdda D-2 fodl
q C @1 G Bl dF B H 2 €S BT GHI Al
~3Y | df 91Td oIl # A9 B TR T 2 |

(a) 30 km/h (b) 20 km/h
ot 45 km/h (d) 35 km/h



The distance between A & B is 211 km.
one boat starts moving from point A to

words B in downstream at 7:45 am.
After one hour, an other boat starts
from the point B towards A. At 12:45
pm, both boat will meets. If speed of
boat first and second is 26 km/h and 18
km/h respectively in still water. Then
find the speed of stream.

@ Ba da ¥ g 211 f&Hf @ va =9
_ 26¢H*ﬁﬁgnaﬁaﬁ?ma§mﬁwm
IR Pl 2| U ©e dq qad) 919 fdg B
d A @1 AR g1 IRMAS Hcfl 21 12:45

pm W <QI9l 919 adl 2 afe od oia

Ugel SR QW @ @ drd HHI: 26

9 km/h (b) 6 km/h fHfy /v sty 18 fHfi/ue 2 af arT @)
(c) 10 km/h (d) 12 km/h a1q g &7




2& ze‘ P, Q, and R three cities situated on the
bank of river which flows at same rate.
’——-—r——’ Q is situated at equal distance from P

K and R. A person start from P and goes to

Q and come back to P and takes total 10
hr and to cover distance from P to R in

U 4 hr. if speed of stream is 9 km/hr.

Then find the speed of man in still
water.

P, Q, 3R R U & a1 & fFIR W

UH Afdd P8 999 8 R R 2 &
gfed PH Q @AT Q d 919 P &1 gl d¥
Cﬁ Y H 10 ©C IR P R B gl a9 A
H 4 €S BT 99T odl & dfc gRT P °qTel 9
/Hel 8 df Ind oid § S9a! 9ard Sid
— IS kem|L;

y 4 Rera 2 Q, P oM RA WA ) W Rera 2
\
ﬁ

I
(a) 12 km/h mﬂ/ls km/h
(c) 10 km/h (d) 18 km/h



River Yamuna flows in the direction

‘—————‘—~' from Panipat to Meerut. Gaurav wisher

M to go from Panipat to Meerut in a boat.

1
He rows his boat at a speed — of the
W qww o1

31 qipeed of water. Et: he just sets in the
;_"'"bnat without rowing for g th of the

S distance and rows the boat for the rest

E of the distance he will reach Meerut

in T mlnutes})n the other hand he just
2

its in his boat without rowing 5 th of

6° the distance and rows the boat for the
3

remaining 5 of the distance, then he

will reach Meerut in T-5 minutes find T.
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The distance between AB is 174 km.
Two boat start moving towards each
other at the same moving towards each
other at the same time at point A and B
respectively. If their speed in still water
is 9.6 km/h and 194 km/hr
respectively. Then in how much time
they will meet.

AB® d9 @ gft 174 fHaidies 2 <1 -9
UH gUY dl 3N Tdh @ 999 R Hae: fdg
A 3R B 9 AT IRH $Hdl & IATd oA A
g9 dArda 9.6 feAl/ger T 19.4

foft /aer @ at @ foad wwg & A
(a) 9 hr (b) 7 hr
(c) 4.5 hr (d) 6 hr




d A man - swims from A to B and baok
—ro !
&_’ -B 4 ~ hr. A block of word when allowed to
N7, go with stream from A to B takes 6 hr.
L d + d ~ :L_ what is ratio of speed of the man and
7l"'3 9{-& 2- s?am.
0\ " JcHl A 9§ B d@ dxar & 3R arftw
ﬂl"_’i:j_ _3 %4£a%ﬁaaa‘ﬁ"r$rﬂmzaﬁ3
ary Y 2 2

_ d®d URT & 91 Wrdl & dl 6 8¢ &1 99d
@ Al & T & ufa &1 el o ufa 4
N
3



UM —> A goes from P to Q with a certain speed.
The speed in the onwards journey was 20%
& less than the return journey. The total

distance covered by him in to and for

e
S journey was 2000km andjhe take, 2 hours
q of haltfnr servicing before returning back

fogm2 to P find the speed of onwards
journey if the total time taken by him in

B _.:.. his journey was 42 hmm??
p d AR ARTT IR A P & Q & R orar &

l‘lb"("""\go SITe aTell a1fd a9d AT arell fd & 20% FH
W%L\{- %m ; Il'iu:.
r..u-lu . ‘Lb o e M ;:."En :lr_;:J
(a) 40 km/hr u(,45km;h, AT @ o ¥ §AT BRE iy ¥ ag T Iy
%) S5 S (d) 55 km/hr of qmam # 3§ 42 9T FT FAT AM?

240
=4 ,2_3
An ' B




s,‘,wh A swimmer can swim at a speed of Skm/hr
but when he starts under diving his speed
Fom @ increased by 10% the speed increase lasts
> nly for the first 30 m then find the

)/ y Slemlt : : : :
proximate time taken by him to swim

e 36 50m and return bank?
_S-:?_ =]9.%e# FF Skm/hr A 7Y ¥ & TFar § A
"l

tz %_S_ °§aaﬁt%ﬁmsom%ﬁﬁ

¥ FeqATfa 3ﬂ? a9y T I AT AT HIAT?
7003 (a) 60.3 (b) 65.05
© Ls}70.03 (d) 75.03
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A boat goes 28 km downstream and while
returning covered only 75% of the
distance that was covered in upstream. If
the boat takes 3 hr more to cover the
upstream that downstream, then find the
speed of the boat in still water km/ Qr if
the speed of stream is 5/9 m/s. K‘ -

T AT URT % e 28km SEh ¥ S SLPA
Safs aqHr A Faod 75% gt B a7 AT T,
S URT & 9fage a7 #r a5 AN IR} A #H5
URT ¥ Iefdhe IR vfade aF @ & 3 @2
3T+ AT o9 Y AT ST #H A9 $ aAfa AT
H{ gfg 4RT T 5/9 m/s.

g7
(a) 8 kmph (b) 2 kmph

T 5 kmph (d) 4 kmph



Two bullets at the same place at an
interyfal of 35 minutes fired. Towards the
firing point a person is coming in his, car
listen two sounds at the interval of 33
minutes, If the speed of sound in 330
m/sec the what is speed of car in km?

35 fAde & IaUa W TH 9 W ar Mfear
ToT$ T BT &g A WE J9F FW A 30
@ U gfFad g eafadat & 33 @Aee &
WﬂﬂﬂT%ﬂﬁﬁﬁﬁﬁSSOm/sec%H’f

h]"‘”\fs FR $T T (km/hr) & F47 87
(a) S (b) 62.5
(c) 37.5 Mz




"W""‘ The speed of boat in water is 20 kmph and

\)f YN speed of stream is 3 kmph. Boat takes a
total of 9 hours to cover the distance from

‘ point A to point B upward and from point

43 VT B to point C downward. If the distance of

o W upstream is three fourth of distance of

C downstream, the total distance travel by

31 oy, 3 Ux— q boatis  m.

20 gt & A1 #r afd 20km/h ¥ 3R aww fr afy

_gjﬂ&'g_"?\hf‘l 3km/hr § 17 F qT FA H F9 9 G WA

-39 F 1I3FUD K] ¢ g A @ Reg B &1 gt 3w & 3R 3k
R B"F:. NN g € o o 1 3 ARy el 1 gl e
(all715.0'0

13
raren ] s ¥ s # g,

(c) 162580 (d) 171617 T 1@ & gt 1 AT Hie §?



T C P> The ratio between the speed of a train and

a car is 18:3 respectively. Also, a bus

I 2 3 MD covered a distance 0of 480 kms in 12 hours,
the speed of the bus if five-ninths the
speed of the train. How much distance will
B =$ the car cover in 5 hours?
y

T
d Yy 9@ 480km/hr 1 g aF FIA § 12 @ A
e afa 5/9 g aHrafa/ a5 a¢ A

\QXV:'b rastt {‘ﬁ T F0E0?

(a) SO kms ) kms
(c)2§0kms (d) 120 kms

U ¢ IR 0F FR A A IHqud 18:3 §




